11

Vi

YIqe™ - S 3R &

39ad - U 3R

HAfsg | 3341 AT 216t Jrent T

AN o TR e 5 ety fafy
€7

(1) HF*HH

(2) s

Q&Y faama (ye)

(4)

102.

Hegay

frefafed 9§ § =7 am am 55 e g
Hiafea 98 2m 2

103.

(1) fwram =+ i =1 fawg

@ T T e
(3) o Hal # A

(4) =IWE F i g g

11 =T 9=adia ArsH1 % SR 91E 5 571 S
@1 dferd W arafas gfs 3 waen: fraey
W E?

(1)
(2 8TWA85
\m/ 9 Td 8

(4) 85T S8

104.

8 UF 7.6

102.

103.

104.

L A p 5
: Sy ( 101. Under monopoly, shape of TR curve 1s :

(1) Horizontal
(2)

\9)/ Inverted - U shaped

(4)  Positively sloping line from the origin

Inverse - S shaped

Lorenz curve is a graphic method of

studying :

(1)
(2) Averages

Index number

Dispersion

(4) Correlation

Which among the following items would
not be counted in the computation of
National Income ?

(1)  Sale of urea to farmers
(2)  Resale of a painting of M.F. Hussain
(3) Income of Taxi service

(4)  Value added by bread maker

What were the targeted and actual growth
rate of GDP in India during 11" Five Year
Plan respectively ?

(1) 8and7.6
(2) 8and85
(3) 9and8

(4) 85and8
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Ll b 105. Entry to Movie Hall is : PROLER 4.

(1) TSt RIS TR-gfereq e (1)  Excludable but Non-rivalrous

(2) freyies iR st Jg)/ Rivalrous and Exclud,able

(@) vieeicrs R1G HESCEEE | (3) Rivaﬁous but Non—E.xcludable

(4) HISERC R TR-yfoeyferes (4) Non-Excludable and Non-rivalrous

106. THTHHTRE Fiaarit wH e onf U & Ty | 106. Monopolistically competitive firm operates

SIS FAl T, AT ek g Tt s # 2 with excess capacity, it is indicated by :
AC & fid gT wm W 3 (1) output at falling portion of AC

(@ AC % 27 fig W 3emeH (2) output at minimum point of AC

(3) AC ¥ 9 T 91 T S _ (3) output at rising portion of AC

@ MC= i ﬁ‘f{ﬂ'{ ST (4) output at minimum point of MC

107. Wwﬁww%?ﬁ%mm%m '107. Total cost at zero level of output will be

@Tl'l’ equal to :
@< (1) TFC
B o) CAC : ik (2) AC |
o e, Tl @ e

@ AFC 1&3 o T e




109. SteETg wfteds R Ueig wwe @ (NAPCC)

=1 YIRY forg a9 fopan w2
(1) 2008
(2) 1998

(3) 2010

m/ 2014

mmﬁ,ﬁ.qu.aﬁ.gmaﬁaﬁmmmw
sTarsH forg e feran man ?

(1) e 2014 9 feg=R 2014
(2) 7T 2013 | T@TH 2014

(3) 3T 2014 | T 2015
(gy" SR 2013 ¥ A 2014

111. TEER fafy &1 39Em #:3d g0 9= 9 F3
ol A g
2piq,
Py; = —1—2 x 100
@/ 5p,d,
5
~pP.q
Pm = EDL . X 100
(2) Epoq]
2p.9
POI - AT x 100
3) 3p.q,
3
(4) Fo1 = P ™ %100
2p.4,

109. National Action Plan on Climate Change
(NAPCC) was launched by India in the

year :
(1) 2008
2) 1998
3) 2010
(4) 2014

110. In India, 6" Economic Census was
conducted by CSO during :
(1) January 2014 to December 2014
(2) April 2013 to March 2014
(3) April 2014 to March 2015
(4) January 2013 to April 2014
111. The formula for constructing index using

Laspeyres method is :

P.4
Py = ——2L x 100
1 01
(1) P4,
(2) 0= plqn x 100
0,
(3) P01 = 20 x 100
11
>
@ To= I;’ L« 100
oo
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112. fE TF 5% 1 FHIAd AR I a8 T fF w3
mwmﬁnﬁﬁﬁwﬁwé;ﬁqﬁ

\gf/@%mrm

TF 9 Afys
(3) UH | FHA
(4) @ HE 9 &

113. TS Sfaant geeiss 2015 et fova arfefs
Wmmmw%,%mmw
1) 559"
@) 709
() 503
4) 1234t
114. fafte ama Fafafad 5 9 fFE a=R <
T & 2l € 2
1) gui gfqeyd
) THHFR
() UHIfUmRITS wfaeaH
(4) i gfqafma
115. @1 (SEBI) A ‘7z 39 (RightIssue)  F0M

F1 uferan =1 gggEm 109 feii 9 =Rt X
9 fem &

1 72f@=
2 53 fc
@) 43fe
4) 63fe

112. If Price of a commodity and corresponding

Total Expenditure on the commodity
changes in opposite direction ; price
elasticity of demand will be :

(1) Equal to one

(2) Greater than one
(3) Less than one
Cannot be defined

113. India’s rank on global competitiveness

index 2015 released by World Economic

Forum is:
M 55th
(2) 70t
3) 50t
(4) 1234

114. Excess capacity does not exist in which of
e S

the fgllowing market conditions ?
\Ll/ Perfect Competition
(2)  Monopoly

(3)  Monopolistic Competition
(4) Imperfect Competition

115. SEBI has reduced the time limit for process
of issue of ‘Right Issues’ from 109 days

to:
Jlf)/ 72 days

(2) 53days
(3) 43 days
(4) 63 days
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116. SE % 14 5 foqq a7 &7 <90 FH ¢ 7

(1) Tm usH
(2)  3fa gea
4) <um. faszm

)

117. 378 9§ %19 BRICS &1 T¢& A& £ 7 117. Who is not a member of BRICS ?
(1) S (1) Brazil
() == (2) China
AATCY (3) Bangladesh
(4) <faon TR (4) South Africa
118. B3I NfYF ST F TER YRd o P9 | 118. According to Sixth Economic census; total
ATeNfiTeR 3o 9 yaFR feog € . industrial units in India are located as
under :
(1)  63.1 Sfawm T iR 36,9 ShieE T=d (1)  63.1% in rural and 36.9% in Urban
aj ﬁ areas
(2)  40.52 Ffaerd Ao 3R 59,48 Ui ved (2) 40.52% in rural and 59.48% in Urban
E?I'ﬁ ﬁ areas
(3)  59.48 HfqwE ATHIY 3R 40,52 Yfavr sred (3) 59.48% in rural and 40.52% in Urban
a}i ﬁ areas
\(9/ 36.9 9fa9rd A= 39R 63.1 gfgera vred (4) 36.9% in rural and 63.1% in Urban
&3 o areas =
afs C=50+0.8Y R [=50, & 7w ww 7 | 119, [FC=50+08Y and I =50, calculate the level
U] IS e of saving : y
Oy 50 gy 4>° (1) 50 7
(2) 500 =80 X0 2) 500 S &
(]
(3) 40 e\ = (3) 40 //(’
4 5 29 S 4 5

116. Who is the Chairman of 14" Finance

Commission of India ?
(1) Raghuram Rajan
(2)  Urjit Patel

(3) Y.V.Reddy

(4) T.S. Viayan
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120. Frafafea & | HE-H T GRS 5

1 A & 7 |

1) =MW Ihe R Y WEH FHig
R ° gfg &1 FA

(2) =&d G ISR & TR F Y =
HHd TR H gfg & 1A

\gfﬁﬁ%mumﬁnawﬁﬁ\aqu
=1 A

(4) TS F WY R FHG KR H FH H
A 3

121. ‘Hifgew SER’ FeE ‘3= iR g8 (High
Powered Money) & :

g

120. Which of the following is an explanation
of stagflation ?

(1) A period of increase in overall price
level with high growth of GDP

(2) A period of overall price rise with lots
of employment opportunities

(3)” A period of rapid increase in overall
price level with recession

(4) A period of decrease in overall price
level with recession

121. ‘Monetary base” or “High Powered Money”
is :

(1) Total Debt of the government

(2) Total Assets of RBI




123. HES{ Feqeq § fie o o 9 € -
&/mmm@mmﬁﬁ

(Non-Excludable)
R-yfqeayicns ug aasi
WiTEqHTeHe e 3Tqesil
Ffaiers ug R-379asi

(1)

=R 3R e & fon fava FHeE

@/Wfamqﬁﬁamwﬁﬁaﬁm

)

(4)

@ gla R fova FHvH

faveeia F9-erar gurR ® fawm
FHIH

125. YA H SREd] YOauig aeH & deg F =9 5
\?ﬁaﬁﬁ@ﬁqmwaﬁ%?
arfae Si.E 9. 3fe & 10 wiem

(©)
(4)

ize) tresian 4 = < ave 47 fora

12 = F5T1 % 31d T T X ] T2
2.1 @M

1 yfva Ffa 71 3 =
fafmio afg R # 7.1 wfaem =

123. Public goods have following attributes :
\QJ/ Non-rival and Non-Excludable

(2)
(3)

4)

Non-rival and Excludable
Rival and Excludable

Rival and Non-Excludable

124. The Brundtland Commission is :

(1)

The World Commission on Trade and
Development

The World Commission on
Environment and Development

The World Commission on Food
Security

The World Commission on
Worldwide neo-liberal reform

125. Which of the following is not correct as
target for 12" five year plan in India ?

1
2)

&)
)

Real GDP growth rate of 10 per cent

Reduce Total fertility rate to 2.1 by the
end of 12% plan

Agriculture growth rate of 4 per cent

Manufacturing growth rate of
7.1 per cent

126. Which of the following is not a feature of

€? bonds ?
\\ﬂ (1) o (1) Par value
(2) FTXR (g)/ Coupon Rate
() RTE (3) Maturity
(4) SRR T Wi (4)  Yield to Maturity
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127. WfAUM & TEIUG TR 279A F 3R
1.7, 31. U & =EEE BE a2

(1)
(2)

g s~

()

128. &S 2016-17 § YRd THR g1 | fran
AR & fau e $a [y smefea e

R
\g,)/zz,soo e

(2)
(3)
(4)

38,500 FS
55,000 FE
35,000 FUS

ﬁqﬁf@ﬁﬁﬁﬁqqﬁﬁwqﬁ%ﬁ?

FdITET AU

(2) “.um. fa= SAHTE T
. frm =TS Wi T
(4) TueH =y g9 faurs

130. et 3 =R fag & fou 0 U a &

127. As per Article 279A of the amended

128.

129.

130.

Constitution, who will be the Chairperson
of the GST Council ?

Prime Minister
Union Home Minister

)
)
) Union Finance Minister
)

3

(4 State Finance Minister

In Budget 2016-17 total fund allocated for
Sarva Shiksha Abhiyan by Government of
India is :

(1) 22,500 crore

(2) 38,500 crore

(3) 55,000 crore

(4) 35,000 crore

Which among the following is/are not well
matched ?

Economist Concept

(I) W.Jevons Marginal utility

(2) J.S. Mill Quasi Rent
3y L Fisher Rate of interest

(4) Adam Smith Division of labour

Which among the following is not an

37 assumption of Ricardo’s theory of trade ?
\ﬂ/ffql'c."l L= qum'-! gfawe & a4 oot (1) Increasing returns operate in
F B , production
(2) ufEes @ = z1 (2) No transport cost
(3) ANR H FE aen T € (3) No barriers to trade
(@) 9 AT Segal H1 SR FE (4) Countries can produce the tradable
goods
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least one
Tfads . #1| 138. “Any Change that makes at
R = _J-FH @mﬁﬁ \
v é':: b a:f)% a:qu : i el 1 fo individual better off and no one worse-off
(better o

ﬁ@m_ﬁm%”_wmﬁml) stated by~
j a'_\T ﬂ@ V. Pareto

) wFaer-few (2) Kaldor-Hicks
(3) . SuH (3) J. Bentham
(4) 3 HIEA (4) C.E. Ferguson

139, ErTein siea o 9 (LAC) U SR &1 | 139. Long-run Average Cost Curve (LAC) is

B § | SHH HR Al € ; U-shaped because of :
d}\/ v % gfawa & M (1)  Laws of Returns to a factor
(2) UREdRIE AT i FEE (2) Law of Variable Proportions.
3) YR = s=d wd e (3) « Econo;m'es and diseconomies of scale
@) e e fer o (4)  Always decreasing fixed cost

140. fr=fafas & 4 #17 fus 9/ o= =1 | 140. Which among the following will lead to

U i FEE 7 larger credit availability ?

(1) CRR | 2mt (1) Reduction in CRR

(2) SLR ¥ =2 (2) Reduction in SLR

3) H I (3) None of the above
<A (1) T (2) (4) Both (1) and (2) above

141, HT-H T SN TE 13T % 99y | 141. Which variable is not included in the

HIFIF Bl T H A TG o s 2 calculation of composite HDI by
\m/ _ UNDP ? :
a.ifji HEIHIS (deprivation Index) \(Jr)/ A deprivation Index
(2) HEMA (Adjusted :
ks Justed) IR < o). (2)  Adjusted Real GDP per capita
(3) ST FeIRn Geehish :
_ 3) LifeE
AR e 3) e Expectancy Index

@) e wie g
B EEAED (4) Educational attained Index
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142. 99 qﬁ 1 I AT Hel * HA MUERY % | 142, Which measure of money supply lays stress

T T < T ? on the store of value function of money ?
® M. | (@
@/ M, A2) M,
3) M 3) M,
4 M, @ M,

143. T IR0 T W fagm ﬁ=r1%«1ﬁaa 143. Best principle of taxation is based on which

A3 fFgmeamfae? of the following ?
y/mm i @ | (1) Equal Marginal Sacrifice
| @) e dmig@m | | , 2 Ab,sph_;te Marginal Sacrifice
| ﬂﬁmﬁﬁ; HrHia 215 r . | (3) Proportional Marginal Sacrifice
@ Fa@m o Iy 4) | Total Sacrifice

L
Wy

4. As per revised estimate, Revenue deficit for
the year 2015 - 16 was :

(1) 3.5 per cent of GP
(2) 3 per cent of GDP
..43)/ 25percent of GDP'

3.9 per cent of GDP

s haral B0 i S RLAAS F I8N
oy 1




| . N o e T& | 146. In the case of Monopolistic Competition
‘ YT i 3 we & w19 Sk 2
85 which is not true
) favye (1)  Product Differentiation
\&y/;jf S (2}/ : Independence of firms
SeRER] 4 g
©)) % s s (3) Interdependence among firms
(;) wof 37 wfys ge (4) Large number of firms
147. A9 f9%m fGE (HDR) 2014 & 3TI9R | 147. According to HDR 2014 ; which one is
FH-91 TF 9@ £ 2 correct ?
\9/;]& 3R YRG %1 "He fae™ gaFw (1) HDI Index of Norway and India is
T 1 31 135 &) 1 and 135 respectively
(2) A& R uRA F TG faHE gEHE (2 HDI Index of Norway and India is
FHIA: 1 AR 127 B 1 and 127 respectively
(3) SHAT R YA & 7 famE IS GEIED (3) HDI Index of Germany and India is
HAI: 1 3R 135 T 1 and 135 respectively
(4) A SR wRE F1 A e g (4) HDI Index of Germany and India is
FEI: 1 AR 127 7| 1 and 127 respectively
148. 9 AC=MC, AC = : 148. When AC=MC, AC is :
S Ak (1) Minimum
(2) dedrgam (2) Rising
(3) =@ Es (3) Falling
(4) foeham (4) Maximum
149. ™ fiRd g¢ 9= 51 9% =5y FRT § . 149. The cause of downward sloping of ordinary
demand curve is :
yﬂ EhlE (1) Income effect
A 9 Yfaeemgs f :
AT <Al J})/B'Dth INcome and substitution effect
(8) 5 S A (3)  Substitution effect
4) A 314 3R 7 gfeemyy : :
(4) EhlE (4) Neither income Nor substitution
effect
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150. a&xa@)ﬁaﬁnﬁ(m?m?ﬁm%m
xa@ﬁqmmﬁaﬁmmmﬁ@ﬁ
W(TR)ﬁqﬁaﬁ??ﬁ_ﬁw% T 55

9 T 19 ST |
1) 2
(2)i. 25
3 >
3 F1d a1 foRan ST Hehal §
151. 1 YaHE 79 T i § 2

(1) FduA 5° H HE
(2) STUR 3§ &I G

/aﬁmwaﬂwaﬁ%ﬂ :
WranTde

152. A@-39E I8 Il © foh SH-S e a5
qd :

(1) Hifge a3 ¥ gfg o ®
(2) wiq syFmTa § gfs el €

150. If the price of X commodity (Py) 15X 10 per
unit and by selling one additional unit of X
commodity Total Revenue changes by

7 8. The price elasticity of demand will

be :

1y 2
(2) 25
3 5

(4) Cannot be calculated

15} Fisher’s index is based on : @ ,

e

(1) rent year quantity

_(2) _Base year quantity

(3) Average of current and base year
~ .

Fe

(4) Nei

152. Income effect states that as price of a good
falls, demand rises because there is :

(I) Risein money income

(2)  Rise in marginal utility

\@/El‘mﬁﬁ 3§ gfg et ® (3) Rise in real income
4) o= ﬂT@aﬁ F1 grae HEd H ‘a'ﬁs (4) Rise in relative price of other goods
&Il €
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156. HifEFTa GH AT fagr=1 & =W || ¥ 156. According to stage II of Demographic
HIER : Transition theory :
(1) ¥ T AN g <[ O g e (1) There is sharp decline in both birth
il B rate and death rate ‘
) = ¥ diel fiRree 1 € 2) Thereis sharp decline in birth rate
7o S H fiRrere 3Tt B There is sharp decline in death rate
@) TAR T i e a8 (4) There is gradual fall in death rate
157. 3T farfes o SR o Y T 3 Wi T | 157. Which of the following item is not included
fre § A FH-9 58 WHA T a1 S 2 while measuring national income using
WOd ?
(1) fowTar M (1) Rental income r\‘D?f e
e ferrare \1,/ Depreciation
3 frmwm. (3)  Corporate profit
(4) e @E'TQ (4) Telecom services
7
W%Q= —14+10p Jfd e €1 T10 31 | 158, Let Q= —14 +10p be the supply function.
%12 =l 1A o &= gfd 1 iHd dra (e) 1 Calculate Price Elasticity of Supply (e,)
O HIfT | between price of T 10 and X 12
@ 25 &)Q 1) 25 o /‘ N
(2) \O L @3 (ﬂ, /
&)/;.57 S e s o
LT @ 35 g ﬂ""”’flc’zg 120
: Y e S— |04
159. gﬁqﬁm‘gﬁ ! qz gﬁg:fﬁg?; 159. t\::ﬁ;};:;;mitte? has been as.sociated with ——%
. g on ‘Future trading’ effect on
@ S R e
(1) T Hed wH (1)  Rakesh Mohan Committee ..—?-Pg
(2) dgE FHH () Tendulkar Commitice %
®) 1w A3)  Abhijit Sen Committee To
-___(4 T I HES (4)  Devender Sharma Committee 900 L
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160. A ‘MR’ S Tar & @ 9 FoU
Bt
(L) T
ER|
¢
@) ST

161. femwr 2015 % ==, 21,30, & 1041 fafrefEa
FITHGH fHg 2w § gen ?
1) smfEm
(2) =
@) foes
%

162. SFATUHT 56 gteehivl % Ty H YL W™
CaR R
@)
@ 35w & e
e =

@ My, P,

YT T T M F5iE W& & &dd

MUJ.' P_‘!

®) MU, P,
T (1) T (2) T &)

163. IS FHd T8 $a =93 U & fown ¥ yfiahiq
& & A 5 %1 e e e e e 2
3T § Hfyw

/

Q)
Q%W%W
(3) ZHEEHFH

YA & TR

; its slope
160. WhenMRisah orizontal line then1ts $ F

1S

(1) Zero
2y Infinity
(3) One

(4) Positive

ras
161. 10t Ministerial Conference of WTO wa

held in December 2015 in which Country ?
(1) USA

(2) China

(3) UK

W

162. In the case of consumer equilibrium under
indifference curve approach; the conditions

Kenya

of equilibrium is :
lope of Indifference curve should be
equal to the slope of the Budget Line.

2 My - )i
@) MU, E
MU, P

€) MU, P,

Moth (1) and (2) are correct.

163. If the Price and Total Expenditure moves

in the same direction ; Price elasticity of
demand will be :

VLJ')‘ Greater than one
(2) Equal to one
(3) Less than one
(4) Equal to zero

P/Page 18

% %14 % fTu WTE / SPACE FOR ROUGH WORK

PK] 171/ Ecg



164. TG BT 3T Hem C=20+08Y iR a1y
WY =100 §, Iusim F 3= W90 &1 5y
1 7 2

1) 08 90 I
(e Q0
2) 09 Y
1 g
4) 05 \¢

165. THfeq 3Afwsi &I WA fa=ed &l TUE1 FH
i g 1 Hicaq TeA § fhren T © 5% g
T:

consumption function

164. Given the
C=20+0.8Y and Level of Income Y =100,

what will be the value of APC?

(1) 0.8
® (2) 0.9

By 1

4) 0.5

165. The formula to calculate standard deviation
when deviations are taken from assumed

mean for grouped data will be :

ﬁfdz (Zfdjz :
el e
sfdY  Sfd?
@ J(_N—J N2
Std” (o
©) —N—‘[?J ot

o |-

X1

>£242

X1
N2

166. MRS w9 3 uRtuifuq fF S &2 | 166. MRS is defined as :
(1 ;;Rj‘; ;mm a5 X & gl H (I) Amount of good Y given up in
g e REok D RSERIIGH exchange for good X such that total
g Eﬁ <ok ‘ utility is constant.
2) j}%%l S 3% X & 95el ° 818 (2) Amount of good Y given up in
: i | exchange for good X.
(3) ;’@Tﬂm A W;'El,q‘;%‘ EEG ﬁ::z (3 Amount of good X given up in
o forad STATT exchange for good Y such that total
utility is constant
X F e
) m% UﬁT:E;ZEHY eh'?ﬁagm (4) Amount of good X given up in
4 e o wmm ST o 9fs exchange for good Y such that total
3 utility rises.
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: is given as
y nction
on fu
ptl

g , ill be the
. = 167. If consum — 100, what wi
7. At IR FeH C=20+0.75Y %HmY—7100 c=20+075YandY
ﬁﬁmmmm p ValueO
: a8
7 5
1) 075 € ej/' (2) 0.9
C Z 12
oy 095 S
@) 050 e
4 1
t
New Developmen
geared F8 T | 168. The headquarter gt 2
168. = SIAIHE s (NDB) Fl Bank (NDB) is situated at :
ﬁ:ﬂ_d %) (1) Sharlghai, China
<, < L
(2) = (3) Nev\r Delh_i, Indla
feeett, WRd '
o i (4) Rio, Brazil
@ fa, st
£l YN ST fohde 810 | 169. Official data on poverty has been made
169 ﬁﬁ?ﬁml ﬂmw:; :;r %2 ; available by :
| - Planning Commission
e S (U Slanoing
isti isation
; ‘ (2) Central Statistical Organisa
2) FHEE HiEAFE e -
3 faa T3ea (3) Finance Ministry
- fod 9= 3 sfea (4) Reserve Bank of India
@ 1T
170. %= WHR % HHE-H/H FR @A, (GST) | 170. Which taxes of central Government is/are
; > ' I ?
T faerg 18 fa @ &2 not being subsumed into GST ? 4y
)  F=Id IR Yeh (1) Central Excise Duty
1
( ) FaT (2) Service Tax
(2 %
(3) A SR Y&h () Additional Excise Duty
‘9/‘ e 394M & fou Yewieia w o Tax on Alcoholic liquor for human
| consumption
' el T
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171. Frafafed =3 w e SUELE 171. Consider the following variables :
(A) T Hm (A) National Debt v
(B) Tﬁaﬂ Y 318 (B) Annual production of wheat -
©) TH Eﬂ%i (C) Money Supply']h
(D) =%+ M (D) Demand for a commodity Sd
3‘1'{{33 H yaTe R F E ? A= fow FT Y TN Which of the above are flow variables ?
S Answer from the code below :
17 (A) T (B) J (A) and (B
(2) (©) d= (D) (2) (©)and ( j
(3) (B) @ (Q) (3) (B)and (C
(4) (B) 71 (D) 4) (B)and (D)
172. 519 MRS feR &, €1 X 3iR Y oeqd € - 172. When MRS is constant, X and Y are :
(1) A-Hag (1) Notrelated
2 o TuEE \_(})/Perfect substitutes
@) T (3) Perfect complements
@) frF=agd (4) Inferior goods
173. TSia e 3 s I o 98y € 173. Rajiv Gandhi Udyami Mitra Yojana aimed
at:
(1) T &9 TS FR SUHAT HI TG HI (1) Promotion and support for
YredTe 27 Ferddl < | establishment of new micro and
small enterprises.
(2) S AT Jiaefd A arel el (2) Promotion of large import
&1 ieaTed <1 | substitution enterprises
(3) T &5 H oS ST Sehrsal sht T (3) Promotion and support for
1 YIcHTe" Ud Fergdl <A1 | establishment of large Industrial
units in rural areas
SASIE 3T g S T gt (4) Promotion and support for
IR ! WTeETed Ta Hergdl <A1 | handmade products made by tribal
Entrepreneurs
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174. ¥t fygds & fawma TuTieR (coefficient of
skewness) i UM FE F G iz

SK, Hreg — aEElai
@  SKp= i
GRS
(1)
B ESKp = men - smw

175. IRA B Q= A L4, K6 % foru frefafag

H Y T T gl A § 2

(1) 3IeH g9 F1 femm 04 &

@) FE AR T FHl L a1
it 1 I & Wi A 1 % Ay

@) TE HT T HIfe FH w9

176. T k1 Hehio GRS &1 6 o o vt e

&2 ‘
\_(y/ﬁq'ﬁmammwn

174. The formula for calculating Karl Pearson’s

coefficient of skewness 1S -

Mean — Mode

(1) SKp= o
Mode
(2) SKP i (0
Mean
(3) SKP 3 o
ag
(#)  SKp = Mean — Mode

175. For the production function Q=A. L4 K#,
which of the following is not
correct ?

(1)  Share of labour in output 0.4
(2)  The function satisfies Eulers’ theorem
(3)  Elasticity of output with respect to
Capital is 1
(4) The function is homogenous of
degree 1
176. Narrow definition of mone

: Y is based upon
which function of money ?

(1)

Medium of exchange

Standard of deferred Payments

(2) ST T 5 A 2)

(3) T H (3) Measure of valye

@) T F HyEy (4)  Store of valye
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177. =9 9 % Hel BHA 6t TeTH H -

. AQ Q; +Q»

LU T

ﬂ—Ql_Pﬂ'Pz

12 B =B 02105
AP P +P,

DD 0, r0

B =P

25
(4) Q -

Q; +Q»

178. 71 % 9 ®A-91 %Y" Wl /% 2
( men | fameq 1 deroda an =
a
(B) WA ® foge & ol 1 AM YA B

1) [ (A) iR (B) ¥&I €|
(A) T&l € oAfs (B) TTerd B

(3) T (A) 3R (B) e €

4) (A) TeE & AR (B) TR &

179. ' TRYA %oTe’ HEHH fFE WH=d 2

(1) ToEE gfawnst %1 s
'Y ICTEA H gig S
() e

(4) SR T H S

177. Identify the correct formula for arc

“elasticity :
L8
AQ | Q +Q Q(’F &
1) AP P +DB :
5 =iQqvs by 3 B8
Pz —P] Q] +Q2

ili PI+P2
G AQ Q1 +Q;

By =P
@4 o, -9

: P]‘FPZ
Q1 +Qy

Which of the following statement(s) is/are
true ?

178.

(A) Thealgebraic sum of deviations from

mean is zero.

(B) The sum of squares of deviations

from mean is zero.
(1) Both (A) and (B) are true.
(2) (A)is true but (B) is false.
(3) Both (A) and (B) are false.
(4) (A)is false but (B) is true.

179. Operation Flood Programme concentrates

on :

(1)  Increasing irrigation facilities
(2)  Increasing milk production
(3)  Flood control

(4)  Flooding the market with food grains
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180. Freferfias 3 & S a1 =R S04 F I | 180, Which of the following 15 an example of

k? trade barrier ?

(1) focsit frem (1) Foreign investment
(2 fraf W sEm (2) Subsidy on Exports
(3) AR Y (3) Trade treaty
"w/m FHEL (4) Tax onimports |

i TR A |
181. ﬁﬁﬁ'@iﬁﬂﬁ"ﬂ'ﬁm'ﬂﬁﬁ%ﬂaﬁ?wm%{hich one of the following is correct

formula for tax multiplier ?
MPS 7
@ Tmps
MPC

1

B g (AR et e oo

s of this co

R S
5 ~iagy 3

#,



183. VHTE H3 Y1 A 1 Fe HR™ Ty ey 2 183. Pradhan Mantri Mudra Yojana has been

launched on :

(1) 01 3%, 2016 (1) 01 April, 2016

(2) 08 T, 2014 M April, 2014

(3) 08 3T, 2015 (3) 08 April, 2015
(4) 25 fem=R, 2015 (4) 25 December, 2015

184. U= qOeyu o faened & yraiss 9 10,0, 5, 4, 7, | 184. The marks obtained by a student in a test

81 4: 4! 6 are 101 Or 51 41 7’ 8’ 4’ 4’ 6
&~

315l 1 H=14 Jgia & A9 2q e Which among the following average is not
HMHE-971 3THq I9g qEE? / suitable as a measure of central

{-« tendency ?
(1) TfordrE =eg N (1)  Arithmetic average
(2) (2) Median

a) Q I
S me .\.I"' (3) Geometric average

4) SET (4) Mode

185. ¥ 2015 - 16 % <WH WRA A ST.SLH. HfG | 185. GDP growth rate in India during 2015-16
=T 9T ATl Il s R HiEd W

at current prices and constant prices
respectively was :

(1) 9517478 (1) 95and7.8
2) 108TI76 (2) 10.8and 7.6
(3) 87Td76 M and 7.6
4 87WE72 (4) 87and7.2
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186. Hehol BIe] IS Ta Hehed WL IcdG 1 3T
T

(1) S cHd
(2) TEHRI T
B) S AT H

4) facwi | 3 WuF AE

187. /& THY IS A ufiady foig W & @ @iHid
IS :

(1) FHAB WA=
() BT B &
(3) ferhan g &

4 YATUTE

188. fFAfafEd d € -0 W& $o1 a9 5% F
Hed H W\t 82

(1) =< AR 9% @I 8 @ MR, AR ¥ sifush
il

(2) I AR ¥2 & T 9 MR @e 53|

(3) 3fE AR 5T Wl & @ MR, AR ¥ &1
il e

(4) A AR 7€ W@ 2 @ MR w1 w2

186. Differen

(1)
(2)
()

ce between GDP and GNP is :

Deprecia tion
Govt. Transfer

Net indirect taxes

Mt factor income from abroad

187. When total product ig’ at the point of
inflexion, then MP is :

/}:llling

)

Negative

Maximum

&)

188. Which one of the following 1S

Zero

true In

relation to total revenue curve ?

(1) If ARis increasing MR wil] be greater

(2)

G)

4)

than AR.

If AR is decreasing MR wil] always
be inc.reasing.

If AR ic ; : :
;; Tncreasmg MR will be Jesser

If AR is increasing MR v

ill al
be decreasing_ e
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189. =8 | f&=i WA | TRIS % STTemE T
T § ?

(1) ey Hew
(2) TieH TH ™

oo

190. mzwwﬁmmﬁ:%
QNH; 9RA H ST ISR 1 e Fa

IR H o w2
(1) 50 gfava | &9
(2) 90 gfaerd | I

‘ (3) 8p-ufav™ = %A
‘@/sz}.ssrﬁwra
191. Hg1 9 & & fon yRedra fed 9 g @
T =gAaH e ®

(1) 100 gferd ot
(2) %115 FUS g3 F1 =
(3) 40 Hfeera @i

l)/%llsmq@mmﬁam?ssm
e i faceit afayfaar

192, 9IS T &
<1, fafadra e
@&/ﬁaﬁﬁﬁm%@ﬁﬂ
() U= fafada wfes
4 =g-fafhdt Tt

189. Who among the following did not estimate

the incidence of poverty in India ?
(1) B.S. Minhas
(2) Dhandekar and Rath
(3) P.K Bardhan
Raj Krishna

During the period 2004 - 05 to 2011 - 12; in

India the share of informal employment in

190.

o

total employment has been :
(1) Less than 50 per cent
-/ 3
(2) Above 90 per cent 1%
£
(3) 80% or less

(4 2.8| per cent

191. The minimum reserves kept by the RBI for

issue of currency is :

(1) 100 percent gold

(2) X115 crores worth of gold

3

—_—

)
)
) 40 percent gold
(4) R 115 crores worth of gold and

X 85 crore worth of foreign securities

192. Pie-diagrams are :
(1) Two dimensional diagram
(2)  Three dimensional diagram
(3)  One dimensional diagram

i

Multi-dimensional dia gram
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193. 2011 %} gty fafmfo Aifa % 71 3
HH |I/¥ 29T § 2

1) TS v ¥ sfiew s1.E 9. A fafTwio
e 25 wfawa o= s |

TF 29 F i 100 fafeed TERE
1 G FHET

9T Hrell § it 2t . 3 fafmi e
35 gfqerd o serr qun 100 fAfasA
1l 1 Goid HE

Jy/aa’f (1) T (2)

194. IISHI AERT & STTER 11571 T=a61g JeH1 &
SRH; e T59 =l SAIE (GSDP) 1 gfg

(2)

()

FHH AT ga=a T E
(1) gss, e, faer

(2) TA, e f9Er

@) Tafern, man, foer

MW,W,M

195. If< AT 1 FHH &< TH R FAE (Bp<1) A

193. National Manufacturing Policy 2011 has the

following objective(s) :

(1) Enhancing the | share  of
Manufacturing in GDP to
25 per cent within a decade.

(2) Creation of 100 million jobs within
the decade.

(3) Enhancing  the share of

Manufacturing in GDP to 35 per cent
and creation of 100 million jobs

within 5 years.
(4) Both (1) and (2).

194. Top three states in terms of Growth of Gross

State Domestic Product (GSDP) during 11th
Five Year Plan as per Planning Commission

were :
Punjab, Goa, Bihar
M.P., Goa, Bihar

Sikkim, Goa, Bihar

Sikkim, Bihar, Haryana

195. If the price elasticity of demand is less than

HIHiq ST 80T one (Ep < 1), MR will be :
1) S (1) Positive
) & TR (2) Equalto one
RUTHS (3) Negative
@) Sfu (4) Undefined
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199. WM ST ueh uehifersmifias gfaat wH T Teh-
ed fean s 4
réw\ﬁaﬁdﬂu% 7T M W AfRA o1
FT T HH B |
(2) T U ey S F STEE THE @ |

(3) WA ®I T THH W olfhd oy
&1 TG & S |

(4) UV T AT T B TFAT |

200. HMI, AT 956 & @A —0.5 &1 HIT H A
(ep) T TUMAT FHITTT /& TRI9F Fi9a T 20
Hfd TS 3TR TR |1 50 T & -

1) 08
(D)1
(§\ 0.5
(@)=512

-00o0-

199. Suppose lump-sum tax is imposed on a

monopolistic competitive firm :

200.

(1)

(2)

(4)

Equilibrium will be same but profit

level will decrease.

Both equilibrium and profit level will

remain the same.

Equilibrium will be same but profit

level will increase.

Effect cannot be explained.

Let slope of demand curve be —0.5.

Calculate Price Elasticity (ep,) when initial

price is ¥ 20 per unit and initial quantity is

50 units :
(1) 08
2 1.0
3) 05
4 12

-000-



